N = Ol & AF & ZF A

2000 = =0l & 2 BHa A

Ab2| = K| 2t

A ASEXNST (M ZEXN/HLAHSXIR)

A2 S XX

A

SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
2| = Xl 1t 32,048,551 29,477,353 2,571,198
= 8,645,991
= 4,610,285
= 2,280,902
w 1,203,381
Al 15,307,992
AN SEXN ST (A SX/FHLHEXH) 2,199,140 2,182,367 16,773
L= 40,980
imi 284,618
Al 1,873,542
MN2SX X 2,199,140 2,182,367 16,773
& 40,980
mi 284,618
Al 1,873,542
INEIEE=PNDNE- 2,111,180 2,114,567 A3,387
w 284,618
Al 1,826,562
101 QI2A4H| 8,984 8,669 315
10 JIZtH22AsSE* 8,984 8,669 315
ONSsT o8 SEEFY Falod2(
55349¢) 33,500 x8H 6 1,608
Ossg I AR (dx=3d)
33,5003 »1H x150Ld 5,025
O E2td 4UEA =& 22Y
33,500 x5 % x43] 670
OXMoibl==2 X 0l
33,5002 *3% x32 *33] 905
O4EEIIH2REZ 8,208,000& *9.45% 776
201 L3 H| 46,457 41,777 4,680
01 AtS2eld] 21,200 20,880 320
O1. Y8l 10,000
-Atgl S X JlEt=EH| 6,300, 000& 6,300
NESTAL FBIQHEY 242
2,000,000& 2,000
-=ItR3XA I ME 22,0002 *504 1,100




M MBS X
M MIZSXNSE(MISX/FHAASKH)

9l ASIS I XIS (5 &2
_ _ _ Muo
SN-EHH S (3H) - HEAY - BES 0ff &+ o4 il i~ o Hnz2
~220 Z(HEY,HTOBZ) HANE
N el 2,0002 1005 +33] 600
05. 22| 2,800
NE=NLS = ZA
7,0002 *4% 102 103l 2,800
06. 4t 8,400
SNEHES THAXE AL
o 50,0002 * 128 6,600
THHBIZS X 25Xt AR
450,000 %204 22 1,800
;2 T2 1,557 1,557
O3. A& HHIR X 1,557
Sk 1,557,0002! 1,567
03 A2 23,700 19,340
OINIEE 1,000,0002! 1,000
03.1% 5,000,000 5,000
sz 13,000, 0002 13,000
OMSSTOIBZ ZEHA 4,700,0002! 4,700
202 Ofl 7,380 7,380
01 =LHoitl 7,380 7,380 0
OAEI=T 2REF0Y|
60, 0002 32§ x5 #53] 4,500
OOIZAZAHSE =X 0|
60, 00021 32 ¥42! 43| 2,880
203 ARFXY| 2,000 2,000 0
03 AMEZLREIY| 2,000 2,000 0
O295 % BRNE AR ALY
2,000,002 2,000
01 YL 94,380 86,762 7,618
I} 9,000
Al 85,380
00 BA2RRALAI 42,000 48,212 26,212
OMZIZXAE U222 242(01Y)
42,000,0002! 42,000
D 9,000
Al 33,000
10 BAMHZAS 52,380 38,550 13,830




SN
X XH .
(=

chel:

At=l = K| 2t
ANEISXST (M SA/HAHSKE)
A2 S XX

_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &F oA il b o bRz
O3.1E JIG#A 24 2,400
~H 4t 1,000,0002 1,000
SHECH 2 RE 34 7,000 %200% 1,400
OHEY A 24 10,700
S Al ST 100, 000! *2% 200
R 2,500,0002! 2,500
“HECH 2 RE 34 7,00021+1, 1002 7,700
-224 ¢ 300, 0002 300
OHSEET A8F ZEHA 24 4,400
S R] 2,000,0002! 2,000
SEECH 2 RE 24 7,002 +300% 2,100
-2 2 300, 000! 300
OBEoAY #A BAT OfY|
10,0002 +200% 2,000
OMEEY A BT Z4 7,002 100 700
OWZXA RF Hltl 100, 0002 *50% 5,000
ORNREBR AL SoH4 2,400
R 1,000,0002 1,000
~HARE Z4 7,002 +200% 1,400
O=YRX Zbh &40t
60, 00024 *35% *37H £+ A 6,300
ORNREBN 85 522E HY U A
NI 60,0002 +352 x47H £ A 8,400
ONBIZTALEIS HAAL 28
60,0002 +28% x62 10,080
306 012 1,000,000 0 1,000,000
01 o3 1,000,000 0 1,000,000
OZBA HoHE B2 1,000,000, 0002 1,000,000
307 2120l 951,979 931,979 20,000
D 275,618
Al 676,361
02 DIANTHBE 6,000 6,000 0
ODYHEH X2 500, 0002 *1CH 122 6,000
04 IZFEAEE 20,000 0 20,000




AT MIIEX
M MIZSXNSE(MISX/FHAASKH)

R (et9l: 22
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
OAtzI= X2 & A 10,000,000 10,000
06.25 JIE A} 10,000, 000& 10,000
05 QIZtEZ 925,979 925,979 0
OSEME=X2 S=ArEH|
15,000,000& *37H 2 45,000
OZTEAS S22 2ZHI(01)
642,256,0008! 642,256
i 203,724
Al 438,532
OSEMa=XN224 HIHEXHEH 234
(01F) 228,723,000& 228,723
imi 71,894
Al 156,829
OSMNZBAS=NZ 01SSS HB2Y
10,000, 000& 10,000
M 22X 2 E3HALS 15,000 15,000 0
& 4,500
Al 10,500
307 QI2t0IA 15,000 15,000 0
= 4,500
Al 10,500
05 CIZtREZ 15,000 15,000 0
OSEg=X2 Estatddl K& 15,000,000& 15,000
= 4,500
Al 10,500
MEIZXAIE SAR =2 58,560 52,800 5,760
& 29,280
Al 29,280
307 QIZt0IA 58,560 52,800 5,760
& 29,280
Al 29,280
05 QIZtRE 3 58,560 52,800 5,760
OAt2IEXIAIE SAL = 58,560,000& 58,560
< 29,280
Al 29,280
SER3AU € 7RE2=H XFE 14,400 0 14,400
& 7,200




AT MIIEX
M MIZSXNSE(MISX/FHAASKH)

R (et9l: 22
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
SER3NT ¥ REozH NA Al 7,200

301 utEa= 14,400 0 14,400
& 7,200
Al 7,200
IIEEEEESE 14,400 0 14,400
O=8g®3A & "=2=Hl N2
14,400,000& 14,400
= 7,200
Al 7,200
ZONSXNSE (MBI SR /HAHS K ) 14,237,647 13,266,324 971,323
= 5,804,893
= 2,257,452
= 772,095
i 489,586
Al 4,913,621
ZOHA=SXAIE JIs2 606,960 425,000 181,960
= 275,568
= 165,696
Al 165,696
ZOHQAEATHE AL DI SES 575,000 0 575,000
= 250,000
& 162,500
Al 162,500
307 glz2told 575,000 0 575,000
= 250,000
& 162,500
Al 162,500
05 BIZIRIEZ 575,000 0 575,000
OZMMAAAMEAIL JIsSEX 575,000
-Lt=<cld 500,000, 000& 500,000
2 250,000
= 125,000
Al 125,000
“MERAE 75,000, 000& 75,000
= 37,500
Al 37,500




AT MIIEX
A ZA=EXNST(AE =
el ZLSTAE JIs2

_ B} _ SIEN
SN EB -GS - MBAY - BES 0 & 24 e HRE2
LIRS 31,960 0 31,960
= 25,568
= 3,19
Al 3,19
01 YuBAZ 31,960 0 31,960
= 25,568
= 3,19
Al 3,19
01 MEEZELHS 31,960 0 31,960
OZfAI2ZTR 2| 31,960, 0002! 31,960
2 25,568
= 3,1%
Al 3,19
04 QI = X X 2 7,292,380 4,130,021 3,162,359
= 1,302,429
= 1,144,798
= 772,095
I} 485,836
Al 3,567,222
& 04 1 = X X 2 615, 180 343,960 271,220
201 L2yl 40,400 35,880 4,520
01 At 22l 40,400 35,880 4,520
O1. 22| 14,800
T OROIS R QHLYE X 22
10,0002 *200%2 2,000
“HONQIRIY MESFEXTY CHYE X B
200,000% 54 1,000
EOjOl EXIE R 8002 *1,00004 800
-2tE BJYA 2518 +42
100, 0002 * 1Al 24+ 103l 1,000
~AIZEREONO! EKIQHHB K} 22
20,0002 * 1005 2,000
“SETONY CHEDBAMYE 29 A2
TABNY $42 8,000,000 8,000
05. 22| 2,800
= C e N EI=E P E=IN
7,0002 *4% 102 103l 2,800




SN APSI =X D
BB NI =X BE (MBI =X /FHLHEX )

2l HOoHeI= X XA (ctel: &
_ _ HET
A -3 -H2A(SH) - HEAMY - BES O AF K loﬂfi\_Fo” Hos
O6.8xt =z 22,800
OIS AIRA EAN3 22,800
EPNESESJURelR="Ro] 500,000& 100 2 +12& 6,000
A2 SO0t HeIE 3l
700,000 «20) A =128 16,800
202 04t 5,040 5,040 0
01 3oLl 5,040 5,040 0
OZM=X HRFENHI
60,0002 *4 2«32 +7 3] 5,040
301 LBrtEAE 39,640 39,040 600
01 ABEEXH2E3 11,800 11,800 0
OFMLU=XAILE 2=z 8,800

~HONQIMEAIZ (02O & 2 300 A)

20,0002 *802 43| 6,400
ST BE MBI (6 L)
20,0002 *30% 43| 2,400
OMASHHO MBWEIPDT
200,00021 *15% 3,000
10 SAHAHIR A3 27,840 27,240 600
OZCHel ZOjQIo] & JIEAl &I
60,0002 +80% 4,800
OBOHQIAIL ZAX DFOHYI
60,0002 *4% *33] 720

60,000 x4 & »2 & 7K &t &I 3,360

60,0002 *40% 2,400
O 0Nl M=IISZIIHEl FIHoit]
60,0002 * 102 x42 2,400
OF0jel F=SEIISBIIHE &Itoit|
60,0002 #1225 x32! 2,160
ONS2HEHMO D2HE0H3 &40l
60,0002 *30% 1,800
OANZAZ OO =3 HERS &IH0ib|
60,0002 *30% 1,800
OAZZ OOl 23] L= OIZXIS AL & DO
60,0002 *15% 900
Os0t2l £33 1HS] & IHoit]
60,0002 * 15% 900
OF0HQ AEWAMUE L ISoDS &
Jto1 60,0002 *15% 900




A
X XH .
(=

chel:

Ab2| = X 2t
ZHA=XNST (A EXN/HLAHASXIR)
oIS XIX2

BSA - MG (B H) - MEBAIY - BAH2 O] AFoH &EIE Hm=2
BN B O - HSAY - B2 Sh Of] &F o8 e
O&MXHMC d=220% & 0=tz &
JHO4 I 60,000& x15% x2 1,800
OFAXXMEOL HEZHZ &It HI
60,000& 40X 2,400
OQFMe RFEH& ZIH0 Y] 60,000& 25 1,500
07 QI2t0| ™ 530, 100 264,000 266,100
02 QUZHEAEX 140,000 139,000 1,000
OZfCl MEAld SHLteHl XA 12,000
- OIAI A (200 A ) 4,000,000 *2I4 2~ 8,000
=HIAIE (200 4) 2,000, 000& *2J4 2~ 4,000
O&OMA=XIEAl 2HH| 22,000,000 *2CH 44,000
OBANXMMSES HS2Y
500,000& x1CH=12& 6,000
Os0tol8s =29 500,000& *x2CH =122 12,000
O=sEMR R0 29 18,000,000& 18,000
OZESHALIED| BOjolaS HE
8,000,000& *63| 48,000
04 QIZHHAIE X 15,000 15,000 0
O & I8 L oI HASAF(AICS
A 15,000,000& 15,000
05 QIZIRIES 375,100 110,000 265,100
OFHNAZS=ZNZ 0SS 29
10,000, 000& *3CH 30,000
OFMOIFHEHEH 29 32,000,000 =17 &~ 32,000
OFOel LRl (1 HH B8 F)
310,000& x70H 7 & 151,900
OMASHIS F=2UAESAE Olgzg XNE
50,000& x40 x12& 24,000
OZO0H!l JHRIMEAIM 2|
1,050,000& %20 A=+ 128 25,200
OZ=ENT A2 gelgy e 22t
& 3,000,000& *43| 12,000
O&OEM oatdol 249 15,000, 000& *23| 30,000
OXOMOISHHM AtR4A 2ZHl XI&
500,000& *5JH SHH| 12 30,000
OuUSHEMC HNEA-RA 2H 40,000,000& 40,000
MEISRAIS LT HZ 2] 810 810 0
& 243
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AT MIIEX
HH: HUHASXSH(AMSSX/HLAHESXR)

CHol: F QIS XX & (S92l
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
05 QIZtEZ 6,500 3,000 3,500
OZ O MEAL AAX 2| %S HI
6,500, 000& 6,500
& 3,250
Al 3,250
KNHEOHe! Y HOAlE ME XA 45,000 35,000 10,000
& 11,250
Al 33,750
307 glzZtold 45,000 35,000 10,000
& 11,250
Al 33,750
05 QIZtEZ 45,000 35,000 10,000
OXMFOHY L BOIAL MY
45,000,000 45,000
& 11,250
Al 33,750
WEALD ToHAt &S ALY 40,000 25,000 15,000
& 10,000
Al 30,000
307 glz2told 40,000 25,000 15,000
& 10,000
Al 30,000
05 QIZtEZ 40,000 25,000 15,000
OQuS ATl At &S AL 40,000, 000& 40,000
= 10,000
Al 30,000
A2 SSXJHEH 2 180,000 175,000 5,000
& 54,000
Al 126,000
307 glz2told 180,000 175,000 5,000
= 54,000
Al 126,000
05 QItEZ 180,000 175,000 5,000
OAZHHISSXZHEH 2
180,000, 000& 180,000
< 54,000
Al 126,000




AT MIIEX
HH: HUHASXSH(AMSSX/HLAHESXR)

CHol: F QIS XX & (eH9l: 22
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
N2 23 200,000 180,000 20,000

& 60,000
Al 140,000
307 QIt0IA 200,000 180,000 20,000
= 60,000
Al 140,000
05 QIZtREZ 200,000 180,000 20,000
OZ=SENEA2 22 200,000, 000& 200,000
= 60,000
Al 140,000
45 UM THASEAY X3 150,000 150,000 0
= 75,000
Al 75,000
307 QIZt0IA 150,000 150,000 0
& 75,000
Al 75,000
05 QIZtREZ 150,000 150,000 0
OZSHNEHE SHETALT S
150,000, 000& 150,000
= 75,000
Al 75,000
ad8 BAEAS SEEEMEIA XE 100,000 100,000 0
& 30,000
Al 70,000
307 QIZt0IA 100,000 100,000 0
= 30,000
Al 70,000
05 QIZtRE 3 100,000 100,000 0
OASBNCHE SHHBNUAK
100,000, 000& 100,000
= 30,000
Al 70,000
E3HO NEXIALNH 2F(EX) 125,000 125,000 0
& 62,500
Al 62,500
307 QIt0IA 125,000 125,000 0




AT MIIEX
HH: HUHASXSH(AMSSX/HLAHESXR)

CHol: F QIS XX & (eH9l: 22
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
307 2IZ2t0IA = 62,500
Al 62,500
05 QIZtEZ 125,000 125,000 0
O=SZe NEXNJHH2E
125,000, 000& 125,000
= 62,500
Al 62,500
ZOHQIMEAI L 2] 1,149,396 644,357 505,039
& 65,157
= 739,420
Al 344,819
307 2IZ2t0olM 1,149,396 644,357 505,039
& 65,157
= 739,420
Al 344,819
05 QIZtEZ 1,149,396 644,357 505,039
OF QI MEAIE 22HI(012)
1,149,396,000& 1,149,396
& 65,157
& 739,420
Al 344,819
O HNATEAIE 23| 381,800 261,834 119,966
& 47,497
= 32,675
Al 301,628
307 QI2t0IA 381,800 261,834 119,966
= 47,497
= 32,675
Al 301,628
05 QIZtREZ 381,800 261,834 119,966
OROJOIRATYAIL 22| (0]2)
381,800, 000& 381,800
& 47,497
& 32,675
Al 301,628
ZOoHel MMIoOtSXSAHHE 23] 90,000 85,000 5,000
L= 18,000




AT MIIEX
HH: HUHASXSH(AMSSX/HLAHESXR)

CHol: F QIS XX & (eH9l: 22
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
ZOHQ THOIES XS AHHEH 2] i 46,723

Al 25,277
307 glz2told 90,000 85,000 5,000
= 18,000
w 46,723
Al 25,277
05 QIZtREZ 90,000 85,000 5,000
OFOHITHII =X SAIHIEH 2ZHI(01Y)
90,000, 000& 90,000
= 18,000
imi 46,723
Al 25,277
HOIF2tESAE 23| 400,000 280,000 120,000
& 96,840
ml 18,400
Al 284,760
307 2IZ2t0IA 400,000 280,000 120,000
& 96,840
w 18,400
Al 284,760
05 QIZtEZ 400,000 280,000 120,000
OFEMLIF=2UAESAIE 29H|(01Y)
80,000,000 *5H 2= 400,000
& 96,840
imi 18,400
Al 284,760
ZOHQIEIIESAIE 23| 100,000 85,000 15,000
& 32,400
mi 26,150
Al 41,450
307 QIt0IA 100,000 85,000 15,000
& 32,400
mi 26,150
Al 41,450
05 QIZtREZ 100,000 85,000 15,000
OFMASIIEBAIE 2HbI(012)
100,000, 000& 100,000




SA

X{ ZH -
S =

At = X ot

ZHA=XNST (A EXN/HLAHASXIR)

CHol: F QIS XX & (eH9l: 22
SN HH G (EH) - MBAY - BYS Ak Soe s

= 32,400
imi 26,150
Al 41,450

+=otsIHH 29 135,000 120,000 15,000
& 17,000
ml 25,998
Al 92,002

307 gQiz2tol™ 135,000 120,000 15,000
& 17,000
ml 25,998
Al 92,002

05 QIZtREZ 135,000 120,000 15,000
O=x3stsadyd 23 135,000, 000& 135,000
= 17,000
imi 25,998
Al 92,002

e S=sM4E 240,000 120,000 120,000
& 54,000
m 40,000
Al 146,000

307 QIZt0IA 240,000 120,000 120,000
& 54,000
ml 40,000
Al 146,000

05 QIZtRE 240,000 120,000 120,000

OF OIS Sul(012)

40,000, 000& 64 A 240,000
& 54,000
imi 40,000
Al 146,000

M ESHH 2 310,000 280,000 30,000
= 62,010
imi 36,565
Al 211,425

307 glz2told 310,000 280,000 30,000
& 62,010




SA

X{ ZH -
S =

At= = K| 2t
ZHA=XNST (A EXN/HLAHASXIR)

CHol: F QIS XX & 2|7 2)
SN C(BH) - NRAY - HES Aro e 2
307 2IZ2t0IA i 36,565
Al 211,425
05 QIZtEZ 310,000 280,000 30,000
OFMHOIAREHME 2HI(01)
310,000,000& 310,000
o= 62,010
w 36,565
Al 211,425
ZOHESE=X2 2| 810,000 780,000 30,000
= 30,000
mi 272,000
Al 508,000
307 giz2tol™ 810,000 780,000 30,000
& 30,000
im 272,000
Al 508,000
05 QIZtREZ 810,000 780,000 30,000
O EE=sA2 290I(01)
810,000,000 810,000
& 30,000
im 272,000
Al 508,000
A ZOoe! JIAE S0l THAME 22| 50,000 45,000 5,000
= 15,000
imi 20,000
Al 15,000
307 glz2told 50,000 45,000 5,000
& 15,000
mi 20,000
Al 15,000
05 BIZIRIEZ 50,000 45,000 5,000
O S EOHCIIIAI= R0l mHAAI (01LF)
50,000, 000& 50,000
= 15,000
i 20,000
Al 15,000
K&EZOH! NSXAE 29| 101,500 95,000 6,500




SA
X XH .
(=

chel:

At = X ot

ZHA=XNST (A EXN/HLAHASXIR)

oIS XIX2

SN - EH . e (3 Ay Ao gggf; HRS2
JNESESHI R RNIS PN = T 25,375
Al 76,125
307 QIZtolA 101,500 95,000 6,500
= 25,375
Al 76,125
05 0Iz2t®&32 101,500 95,000 6,500
ORXI = ZHoH oI KF&! Al
101,500, 000& 101,500
< 25,375
Al 76,125
AMSSXAEL AKX 24 810 810 0
= 243
Al 567
307 QIZtolA 810 810 0
== 243
Al 567
05 oIzZte&3d 810 810 0
OAZ SXIAEL AR 2AX 810,000& 810
< 243
Al 567
ZOootsSMHEX = 480,000 0 480,000
= 336,000
= 72,000
Al 72,000
307 QI2tolA 480,000 0 480,000
= 336,000
== 72,000
Al 72,000
05 oItz 480,000 0 480,000
OFMOISMEX = 480,000, 000& 480,000
= 336,000
o= 72,000
Al 72,000
ZOHOIA S E S K& 1,380,610 0 1,380,610
= 966,429
= 207,091




AT MIIEX
HH: HUHASXSH(AMSSX/HLAHESXR)

Chel: B OjoI= XXl 2 (cHol &2
SN HB - S2(3H) - MEAY - BAS oy e
& Al 207,090
1,380,610
= 966,429
== 207,091
Al 207,090
2 1,380,610
1,380,610,000& 1,380,610
= 966,429
o= 207,091
Al 207,090
24,624
== 7,867
Al 16,757
24,624
= 7,867
Al 16,757
24,624
2H& SHH| A&
24,624,000 04,624
& 7,867
Al 16,757
10,800
== 5,400
Al 5,400
10,800
= 5,400
Al 5,400
10,800
10,800,000& 10,800
o= 5,400
Al 5,400
Abedl 2t2| A 9,500
== 4,750
Al 4,750
9,500




AT MIIEX
HH: HUHASXSH(AMSSX/HLAHESXR)

CHol: F QIS XX & (S92l
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2

307 gl2told S 4,750
Al 4,750

05 BIZtREZ 9,500 0 9,500
OXZZOHC!l JbS At 2t el At 9,500,000& 9,500
< 4,750
Al 4,750

ZOHQI M & ot A X & 6,338,307 8,711,303 22,372,996
= 4,226,896
= 946,958
w 3,750
Al 1,160,703

SHE HO0HQ FEIHALY 38,000 38,000 0
= 19,000
& 9,500
Al 9,500

402 QIELE01M 38,000 38,000 0
= 19,000
& 9,500
Al 9,500

01 QtR=Ex 38,000 38,000 0
OsHEZOHQFEINALS 38,000,000& 38,000
= 19,000
= 9,500
Al 9,500

Zoel SEAEI) 1,728 1,728 0
= 864
= 432
Al 432

301 ptsazg 1,728 1,728 0
= 864
& 432
Al 432

01 A2 H =03 1,728 1,728 0
OFOMUIS= FEH| X 1,728,0002 1,728
= 864




DOAEI= X2
L DN XIS (ALSI S I/ % H
L EOjOIM B OIH |

= o

SN EE - ER(EN) - NRAY - BaS sl e HlRE2

= 432
Al 432

ol Xt SHHIXIR) 16,212 14,961 1,251
= 12,969
& 1,622
Al 1,621

301 utEazs 16,212 14,961 1,251
= 12,969
= 1,622
Al 1,621

AN EBH A =53 16,212 14,961 1,251
OOl Rt st X & 16,212,000& 16,212
= 12,969
< 1,622
Al 1,621

OHQITHEE X DI XI& 15,048 14,850 198
= 12,040
L= 1,504
Al 1,504

301 erEd=z 15,048 14,850 198
= 12,040
& 1,504
Al 1,504

AN BE A =53 15,048 14,850 198
OHOMHATHEEZ XD P 15,048,000 15,048
= 12,040
= 1,504
Al 1,504

O =E(EX) 5,373,043 6,615,974 A 1,242,931
= 3,621,130
& 775,957
Al 975,956

307 QIZt0IA 5,373,043 6,615,974 A 1,242,931
= 3,621,130
= 775,957




SA

X{ ZH -
S =

At = X ot

HOHA SIS (A2 SR/ A

CHel: RONOIMEOIE K| (el @
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
307 gl2told Al 975,956
01 S22l , 373,043 6,615,974 A 1,242,931
OZM==¢ 5,373,043,000& ,373,043
= ,621,130
= 775,957
Al 975,956
ol 2HI(BX) 183,557 184,864 A 31,307
= 122,848
= 15,355
Al 15,354
301 Lptsazg 153,557 184,864 A 31,307
= 122,848
& 15,355
Al 15,354
01 A2 E =03 153,557 184,864 A 31,307
O&oHelezdl X 153,557,000& 153,557
= 122,848
= 15,355
Al 15,354
HOHI =X LAel K& 90,840 76,750 14,090
= 45,420
= 22,710
Al 22,710
307 QI2H0I& 90,840 76,750 14,090
= 45,420
= 22,710
Al 22,710
05 QIZtRE 3 90,840 76,750 14,090
O=OjoI=XIL Xl X 90,840,000 90,840
= 45,420
< 22,710
Al 22,710
ZASE2ESMENE 35,000 30,000 5,000
& 8,750
i 3,750
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AT MIIEX
HH: HUHASXSH(AMSSX/HLAHESXR)

Chel: FOjOIME ORI (ol a e
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
HOHIEE2SAS X Al 22,500

402 QIZ2EX =0 35,000 30,000 5,000
& 8,750
im) 3,750
Al 22,500
01 BIZIXI=22 X 35,000 30,000 5,000
OHMHIEE2SAIS X (01)
35,000,000 35,000
& 8,750
w 3,750
Al 22,500
ZOtsS=L RS (BEX) 425,924 362,994 62,930
= 298,148
& 63,888
Al 63,888
307 glz2told 425,924 362,994 62,930
= 298,148
& 63,888
Al 63,888
01 dz2FZ=4| 425,924 362,994 62,930
OB OIS+ X2 425,924, 0002 425,924
= 298,148
= 63,888
Al 63,888
HOfIF=0IXXIHEH TR0 AFS(EX) 188,955 102,600 86,355
= 94,477
= 47,240
Al 47,238
101 ol t| 188,955 102,600 86,355
= 94,477
& 47,240
Al 47,238
10 JI2ZHH22NSEs 188,955 102,600 86,355
OROjOIFRIME T20/AY o122
172,640,000& 172,640
= 94,477
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M AN SX
HH: HUHASXSH(AMSSX/HLAHESXR)

EHl: TOHOI MBI OLN K| R (S & )
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES O AF K 'oﬂ/'\_WH Hlws2
< 47,240
Al 30,923
o4t JlBeYI 172,640, 0002 9. 45% 16,315
Lo SX(ASEX/ 0l - BAH) 15,493,835 13,914,713 1,579,122
= 2,841,098
2,311,853
2 1,508,807
inl 429,177
Al 8,402,900
HQAKI 465,835 603,582 A 137,747
IEE 2y 465,835 603,582 137,747
201 Ler29y| 187,815 247,690 159,875
01 Atz 3,975 3,975 0
O1. Y48 3,480
-SERSY Lpr>g| 50,0002 * 122 600
BIEE POIYHAIAH(FFFAS)
240,0008! * 122 2,880
O4. 1 =H| 495
SEANILN 2= 130,000 *3% 390
“SIRIILN orM &t 35,0002 *32 105
02 BTS2 183,840 243,715 159,875
O1.2222LHAl 9,600
-3EESY B2 800,0002! * 122 9,600
O2. ¢l 170,907
3R Jlsg el 169,848
S8 3% F(LNG)
7502 +70m %1807+ 122 113,400
TEZ IFF(ZR)
1,47091+80 £ *40 2128 56,448
SSIET AIRA L DA Ce s SlZh
1,4709 8 Al 2x902 1,059
O3. Al ZHIR XY 3,333
S ASIX Y 2,853 +467m 1,333
-~SHEE AR KX 500,0002! *47| 2,000
206 T2l 31,100 16,300 14,800
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AN A2 =X

BE: L= SF(ASISX/ 0l - HAW)
£I9): DA K2 (EH9): & 2)
_ _ _ Muo
SA - EM . OR(F]]) - NRAIY - BAS Ofl &k 04 il b o HlmE 2
TREET 31,100 16,300 14,800
Otz 2UtHT 72
3,700, 0002 x4CH =23 29,600
OsiZZ24+8 HAEHE 7Y
1,500,000 *x1& 1,500
401 AIEHIZ S0 213,020 336,492 N123,472
01 Al&t] 207,460 331,572 A 124,112
OSHNYT FAY AITA 207,460
-&l Al & A bl 200,000, 0002 *3.73/ 100 7,460
-A &l 200,000,000& 14! 200,000
02 Zeldl 4,120 2,688 1,432
OSEHIT FY =F Loy
200,000,000& *2.06/100 4,120
03 A& =201 1,440 2,232 AT92
OSHSNIT FAF =T Ae2oi
200,000,000 *0.72/100 1,440
405 XH&HFESHI 33,900 3,100 30,800
01 A =SEFHSHI 33,900 3,100 30,800
O=ZUIId AEg2Y 100, 000& 20K 2,000
SEUIIA A7 20,0002 804 1,600
O=eEIl & 10,100,000& 32| 30,300
el = PNDAL- 12,134,260 10,432,645 1,701,615
2 1,656,751
1,719,680
= 1,508,807
i) 429,177
Al 6,819,845
Cel=XXA 901,538 551,683 349,855
n 50,000
Al 851,538
101 el H] 4,400 0 4,400
10 JIZH22NsSE+ 4,400 0 4,400
Oa==Xgl2 z2el 4,400
-8y 33,5003 x 12 *120 4,020
-AHEE JI2REs 4,020,000 %9.45% 380
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COARRI S At

02

ES

m

o sEX BE(AEISX/ el -

)

D E=EXRE

SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
- o= T ° . [= Bl e =5 0:”/‘l|_% Lsa
201 LBHEHH| 32,760 39,855 AT7,095
01 At=2teldl 17,660 32,655 A 14,995
O1. get==2H| 14,300
-LOIEXNAIM Ro= M
2,000 *33*300% 1,800
=LY HE EES M
2,000& x25 3005 1,200
—SHE0 MEXE ROIZ2 M
3,000& *3Z*22] 10004 1,800
SOOI & AL 2| 2,500,0002 2,500
~olo] & #AL 8| 1,000,008 1,000
_NEEXHT ALY St
3,000,000& 3,000
-LoldXielAlY =&t 3,000,000 3,000
O5.a &l 3,360
-EEXAMY R ORIZFA =4
7,000 *3H+10 102 2,100
—A=2=EXg2 AIE2E 0RI2SA =4
7,000 x2H 9 %103 1,260
02 22224l 15,100 7,200 7,900
O1.223a2HA 14,100
HEE 2E344 HIIR2 U sl
ez 350, 0008 * 128 4,200
HEE 22344 BENM 2
150,000& *23| 300
ASENHB AL U HAY 29 B2
3 800,000& x12& 9,600
O3. A& & dl = X dl 1,000
-24d s JIAHEH =Xl 1,000,000 1,000
202 O4dl 4,500 4,500 0
01 =Wolbl 4,500 4,500 0
OLo=X gRFE0HYI
60,0002 *38 x5 *53] 4,500
301 YBtEA= 248,089 24,300 223,789
01 A2 E=063 195,000 23,100 171,900
OAMIISXAIE 2A2(HL0IS2 14HA)
20,0003 450 x33l 27,000

_24_




M MBS X

M LoI=X SA(AISSX/L0l - HAE)
ool LoI= XX (649 &2
_ _ HE T
SA - HH . CA(BH) - HREAY - BY2 Ofl &F o4 il i~ o Hm=2
Okol s 2x)|7 A<
140,0002 1, 2002 168,000
10 BAMHIRAS 53,089 1,200 51,889
OARY 23Z20y 29 AH LS 39,289
~0121H| 1,450, 0008 22 * 122 34,800
AUEE JBRe3 34,800,0002 9. 45% 3,289
==y 50,0002 x22 122 1,200
O SY(S)BA &40t
60,0008 *58 %22 *23] 1,200
Owoltis Srm= (X)) 7
35,0002 *902 *47H A 12,600
307 QI2to0lA 334,257 284,678 49,579
I} 50,000
Al 284,257
EEEEEEL 15,400 15,300 100
025 Lol 227 20,0008 202 400
ORolEt 0l HS Lyt
50,0002 1002 x32 15,000
02 QIAHABZE 100,357 79,997 20,360
OMUE NAAL 87,357
~=9{ 0l 8,0002! *700% * 122 67,200
~=0{- 0l ME R A 19,3072 672 x122 20, 157
OSHEQl meyy 29| 13,000

-HEME=E =1 ¥ HESSU

5,000,000 5,000
-l Al =2 2l 3,000,000& 3,000
-8Jlg € a2 5,000,000& 5,000
04 BQIZFSHAIE X 33,000 33,000 0
OO0iHOol & JIE A 8,000,000& 8,000
Oelol & &AL 15,000,000& 15,000
O&H ZIIHE A 10,000, 000& 10,000
05 2IZRIE= 185,500 156,381 29,119
OLola AZHI(LQIHE 400A)
2,000,000& *40H 2 8,000
okoxizg(d2g)ddlz s
1,000& «550F x50 27,500
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AN A2 =X

M Lol=X ZX(ABI=K/ 0l - HAd)
cHel: Col= XX Rk
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 Ofl AF o4 il b o B2
OZEALIOZ2E =22 (01%)  150,000,000% 150,000
D 50,000
Al 100,000
401 AlSHIL 2 O] 42,000 26,000 16,000
01 Al&H] 42,000 26,000 16,000
OZS OIS hR AT A
2,000,0002! *14} 2,000
OHRLTAITIA OIQZA
4,000, 00024 *107H A 40,000
402 QIR+ OIF 211,532 50,000 61,532
01 DIAN=ELE 211,532 150,000 61,532
OSHEQ Bajg 2SFY 2| 56,000
~CHE M| 27,000,0002 *1CH 27,000
k] 10,000,0002 *2CH 20,000
S PIIETNCEIETRPE Y 7,000,00021 *14} 7,000
-5 01 4 Bt 2,000,00024 *14} 2,000
OLRoltst Ful 2L 3,682
~4918 X 100,000 1} 100
T BIb) 2,000,00024*1CH 2,000
010121 (£ 8) 1,582,0002 *1CH 1,582
OSwoItys MAZE 2] 1,850
-2 FE 1,350, 0002 *1CH 1,350
-DRIE 500, 0002 *14] 500
OF2Y Mo 2|
1,500,000 * 1007H £ 50,000
405 THEFH S 24,000 22,350 1,650
01 KNOLSEFHSH] 24,000 22,350 1,650
OFRY AL2I| 7Y
1,200, 0002 2074 A 24,000
Cos0l X 424,323 622,382 ~198,059
= 287,006
= 41,189
Al %, 108
307 I2tolH 424,323 622,382 A198,059
= 287,006
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SA
X XH .
(=

chel:

At = X ot

L OISX S (M=

Lo=XX#A

02

)

SN S(B) - NRAY - B2 Aro e =2
307 212+0 = 41,189
Al 96,108
05 Bzt 424,323 622,382 A 198,059
Ookols 424,323,000 424,323
= 287,026
= 41,189
Al 96, 108
ol itel At 1,636,502 1,170,312 466,190
= 818,251
& 245,474
Al 572,777
307 QI2+0| & 1,636,502 1,170,312 466, 190
= 818,251
= 245,474
Al 572,777
05 Bzt ,636,502 1,170,312 466,190
OLolgXtel A (B4 24l)
1,636,502,000& ,636,502
=2 818,251
S 045,474
Al 572,777
SN0 MEXTAIIIAAIY) 537,820 701,725 A 163,905
= 376,474
& 80,673
Al 80,673
307 QI2+0I& 537,820 701,725 A 163,905
= 376,474
& 80,673
Al 80,673
05 QIZtREZ 537,820 701,725 A 163,905
OsHolMe 537,820,000 537,820
2 376,474
< 80,673
Al 80,673
Colgd el & 125,000 120,000 5,000
L= 37,500
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SA

At = X ot

HMa: Lol=X SA(ABI=N/ =0 - HAE)
chel: Lol= X XIR (el &2
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
Cold el B EXNALMEH 22 Al 87,500
307 QIZt0IA 125,000 120,000 5,000
& 37,500
Al 87,500
05 QIZtREZ 125,000 120,000 5,000
OodXic|#EXNEEH 2
125,000, 000& 125,000
= 37,500
Al 87,500
=89 250,000 300,000 A50,000
= 175,000
= 15,000
Al 60,000
301 ptEas 250,000 300,000 A50,000
= 175,000
= 15,000
Al 60,000
01 AI2EHE =53 250,000 300,000 A 50,000
OJI=2LE8AZ(NEES) 250,000, 000& 250,000
= 175,000
= 15,000
Al 60,000
AU SAE 2 7,000 6,000 1,000
& 2,100
Al 4,900
307 QI2t0IA 7,000 6,000 1,000
& 2,100
Al 4,900
05 QIZtREZ 7,000 6,000 1,000
OABNESAIE 2 7,000,000 7,000
< 2,100
Al 4,900
LW 10,000 9,000 1,000
& 3,000
Al 7,000
307 QIt0IA 10,000 9,000 1,000
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AN A2 =X

HMa: Lol=X SA(ABI=N/ =0 - HAE)
el L= R LR
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
307 glz2told S 3,000
Al 7,000
05 BIZtREZ 10,000 9,000 1,000
O 2HHl X& 10,000,000& 10,000
= 3,000
Al 7,000
NEESLO &2 6,480 6,480 0
& 1,944
Al 4,536
307 QIt0IA 6,480 6,480 0
= 1,944
Al 4,536
05 GIZtREZ 6,480 6,480 0
OANEESLO ST 2FAY 6,480,000 6,480
< 1,944
Al 4,536
CAEXNANESAR =2X3 353,280 353,280 0
& 176,640
Al 176,640
307 QIZt0IA 353,280 353,280 0
= 176,640
Al 176,640
05 QIZtRE 3 353,280 353,280 0
OL=EXAE SAR = 353,280, 000& 353,280
< 176,640
Al 176,640
L=SXNAIE YL EHEAH € HEH EX 6,480 6,480 0
& 1,944
Al 4,536
307 QIZt0IA 6,480 6,480 0
& 1,944
Al 4,536
05 QIZtREZ 6,480 6,480 0
OLOIZTAL YAT EHBAL L AW
]l 6,480,000& 6,480
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A
X ZH
(=R I

chel:

At = X ot
Lol=2X BE(AEEX/ Q! -
Lo=XX#A

02

ES

m

)

SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s

= 1,944
Al 4,536

ZZ2AY RagA 395,879 323,280 72,599
& 27,000
n 125,879
Al 243,000

307 2IZ2t0lA 395,879 323,280 72,599
& 27,000
w 125,879
Al 243,000

05 QItEZ 395,879 323,280 72,599
OB=YRE=4(01Y) 395,879,000& 395,879
= 27,000
imi 125,879
Al 243,000

Mot =XdEH 22 999,648 899,648 100,000
& 25,299
ml 217,298
Al 757,051

307 gQiz2tol™ 999,648 899,648 100,000
& 25,299
ml 217,298
Al 757,051

05 QIZtREZ 999,648 899,648 100,000

OMItESXAISHE 2 (012)

999,648,000 999,648
& 25,299
w 217,298
Al 757,051

LOANE 29 6,331,810 5,155,255 1,176,555
& 1,023,917
= 1,508,807
Al 3,799,086

307 QI2t0IA 6,331,810 5,155,255 1,176,555
& 1,023,917
= 1,508,807
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AN A2 =X

HMa: Lol=X SA(ABI=N/ =0 - HAE)
el L= R LR
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
307 2IZ2tolA Al 3,799,086
05 QIZtREZ 6,331,810 5,155,255 1,176,555
OLQAIAE 2 XI&A(012)
6,331,810,000& 6,331,810
= 1,023,917
& 1,508,807
Al 3,799,086
22Y 2435 A 10,000 10,000 0
L= 3,000
Al 7,000
301 Lptsazg 10,000 10,000 0
& 3,000
Al 7,000
12 JIEI2 &3 10,000 10,000 0
OZZZEH3AIE (01Y) 10,000,000 10,000
& 3,000
Al 7,000
DIZ2F20F =l X2l AFofedl X (Ex) 30,000 0 30,000
L= 10,000
Al 20,000
307 2IZ2t0lA 30,000 0 30,000
& 10,000
Al 20,000
05 QIZtREZ 30,000 0 30,000
OOQIZH20F ol Xtel AP IRl (AlLIO]
=28) 30,000, 000& 30,000
= 10,000
Al 20,000
NENes Coldiel(BEx) 16,500 0 16,500
& 5,000
Al 11,500
307 QI2t0IA 16,500 0 16,500
& 5,000
Al 11,500
05 CIZtREZ 16,500 0 16,500
OXNgGHEetd LoldXitel At 16,500,000& 16,500
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AN A2 =X
A Lol=X BE(AREX/ Q-
&Rl == XXH

02

ES

m

)

SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
= 5,000
Al 11,500
A2ER=34L FH(EX) 20,000 0 20,000
& 10,000
Al 10,000
307 glz2tol™ 20,000 0 20,000
& 10,000
Al 10,000
05 QIZtEZ 20,000 0 20,000
OZz4g=Rsz4s Fdl+7Y 20,000, 000& 20,000
= 10,000
Al 10,000
MASTHIHE QLA A E 72,000 72,000 0
& 10,000
w 36,000
Al 26,000
307 glz2told 72,000 72,000 0
= 10,000
w 36,000
Al 26,000
05 QIZtEZ 72,000 72,000 0
OMASTHIt=Cl AAFBHE (0] 2H)
72,000,000& 72,000
= 10,000
imi 36,000
Al 26,000
SOI=SXAE &= 2,893,740 2,878,486 15,254
= 1,184,347
& 592,173
Al 1,117,220
SOISXIAIE XI& 12,160 33,240 A21,080
201 eIy 6,400 6,480 A80
01 AtR2teldl 6,400 6,480 A 80
O1.2et4gH| 3,600

-ESEXAE ¢ 222 A

2,000& 25 #4005

1,600
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AN A2 =X

BB LoI=X| SA(ABIEX/ 0l - HAM)
SHol: LoISTAL BE (Er9): & 2)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
ColNdRY NA 2 gERol
2,000,000& 2,000
O5.= &l 2,800
OISR HRE 34
7,000 *4H 10 102 2,800
202 Oddl 5,760 5,760 0
01 =LAl 5,760 5,760 0
OLQANE =P FEAHHI
60,0003 x4H x4 2 +62] 5,760
LETAIE JIsEZAMS 2,508,434 1,075,000 1,433,434
= 1,184,347
= 592,173
Al 731,914
402 QIEXE01 M 2,508,434 1,075,000 1,433,434
= 1,184,347
= 592,173
Al 731,914
01 2UAR=2EX 2,508,434 1,075,000 1,433,434
OLe=RDIIsE2d M 2,508,434
“LOIQUAM AF(ZE D)
793,610,000& 793,610
= 388,097
= 194,048
Al 211,465
~LOIQQAE AU (H2X0HA)
212,324,000 212,324
= 100,000
< 50,000
Al 62,324
MK HEH AMF(S2018)
632,500,000 632,500
= 266,250
= 133,125
Al 233,125
-MHIOMKI2HEH HHEZ(S20IS)
90,000,000 90,000
= 40,000
= 20,000
Al 30,000
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M MBS X

M Lol=X| ZA(AIS=X/ L0l - HAW)
EHelr LS XAIE &5 (el &)
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
-SHEMINSIAIE MFOI2=XME)
340,000,000 340,000
= 170,000
= 85,000
Al 85,000
-SHEMINHSIAE AF(G=2ZHZ2W=
KITHE) 340,000,000 340,000
= 170,000
= 85,000
Al 85,000
-—sHEMII=EXNALE HHE2L (=22
W=XITHE) 50,000, 000& 50,000
= 25,000
< 12,500
Al 12,500
-sHEMIIHSIAIE HHE2 (OS5I
THEH) 50,000,000& 50,000
= 25,000
= 12,500
Al 12,500
F2Y AEEAY 64,836 247,896 A 183,060
401 AIEHIZL =0 64,836 247,896 A 183,060
01 AlI&HI 63,030 246,456 A 183,426
Oud 88324 3= 63,030
-& Al 2 AHlH| 60,000,000& *5.05/100 3,030
-Al 2 H| 60,000,000& * 14! 60,000
02 Zcltl 1,266 0 1,266
Ould gRI=2E SH=s 2eldl
60,000,000&*2.11/100 1,266
03 A& =01 540 1,440 A 900
Odtld 4RIZE SH= AL20H
60,000, 000& *0.90/100 540
S8 Lo=sX2 A 308,310 0 308,310
401 AIEHIZ =0 308,310 0 308,310
01 Al&HI 300,000 0 300,000
Osgre=xa Ag 300,000,000& 14! 300,000
02 Zeltl 6,150 0 6,150
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AN A2 =X

BB LoI=X| SA(ABIEX/ 0l - HAM)
CHol: LOI=XIAL BE (et9l: &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
Osgkol=Xa Hg 2eltl
500,000,000 *1.23/100 6,150
03 AIZ=RC0HHI 2,160 0 2,160
Osgkel=Xa AE ARl
300,000,000 *0.72/100 2,160
HY2A AU (AZIS X)) (IIEH/DIE) 67,929 63,949 3,980
ol 2 HHI(ALSI S XI2t) 21,179 19,359 1,820
fAIE2HH| 21,179 19,359 1,820
101 @IAH| 18,179 16,359 1,820
09 SIAHAZZ2XNES 18,179 16,359 1,820
OREE 2e| 18,179
AR=t=] 29,0102 »1H 300 8,703
= 725,250 * 1 x300% 2,176
RGPS 29,0103 x1H 17 494
=54 29,0103 »1H «52¢d 1,509
-GEF Ot 725,2503 x 18 % 120% 871
-~wWEE LI 30,0003 *1H«12& 360
-tEY 60,000& x1H ~12& 720
-JHAHIE 2| 50,000 x1H =122 600
“A2b2l 225 5,440 x 1 *22 A 2bx 12 1,437
- g aldl 80,000 x1H »12& 960
) PN 29,0103 »1H x2U 12 «50% 349
203 YREZTH| 3,000 3,000 0
04 BEN2IYRFLEYI 3,000 3,000 0
ORANSZE2FTHI(HA:15Y)
250,000& x12& 3,000
Jl2ddl (Atsl =X 1) 46,750 44,590 2,160
ML 10,030 10,030 0
201 Let3H| 10,030 10,030 0
01 At 2teld] 9,550 9,550 0
O1.d8t==ZH| 6,550
-EME2Y YEt=Z2H] 3,550, 000& 3,550
-EAEE MAABEH| 3,000, 000& 3,000
O5.2 &l 3,000
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AT MIIEX
M HH2AZHI(ASISX)(JIEH/IIE)

o J2dl(Alel =X 1) (&2 &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
-EAE2YE S| 3,000,000& 3,000
02 2224t 480 480 0
O1. 22222 A 480
-2EN2YE 5523 480,000& 480
A= 36,720 34,560 2,160
202 o4l 36,720 34,560 2,160
01 =2UWdHI 36,720 34,560 2,160
FRYRFAAL] 20,000 *17H»9 x 128 36,720
MPE=S(Al3I=2X /0 - HAY) 50,000 50,000 0
LHEAHH XIS (A= X1 50,000 50,000 0
2 d&s3 50,000 50,000 0
702 JI2E=E=2 50,000 50,000 0
01 JIS2E&E2 50,000 50,000 0
O=Z2XD 2= 50,000,000& 50,000
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